
A

D B

5'
-4

" R
F 

Sh
ie

ld
ed

 O
ut

si
de

 D
im

5'
-1

 7
/8

" R
F 

Sh
ie

ld
ed

 In
si

de
 D

im
.

8'-9" RF Shielded Enclosure Outside Dimension

8'-6 7/8" RF Shielded Enclosure Inside Dimension

2'-8" RCM-254LT
CLEAR OPENINNG3'-0 1/2"

FOUR (4) 12" x 20" R.F.
WAVEGUIDE AIRVENTS

14
2

FLOOR PLAN

7'-0" R
F S

hielde
d En

closu
re H

eigh
t Ou

tside D
im.

6'-9 7
/8" R

F S
hielde

d En
closu

re H
eigh

t Inside
 Dim

.

INSIDE ELEVATION "A" INSIDE ELEVATION "B"
POLYVINYL

AND MASONITE
UNDERLAYMENT

9
2

6
2
7
2

INSIDE ELEVATION "D"

CEILING PLAN
THREE POINT
LATCHING
MECHANISM
ON THE OUTSIDE
OF DOOR LEAF

10
2

3'-0 1/2"

C

1/
8"

M
as

on
ite

RHO

ONE (1) 3/8"Ø BRASS
GROUND STUD

5
2

RHO

ONE (1) 12" x 12" R.F.
PENETRATION PANEL

13
2

TWO (2) LED
LIGHT FIXTURE

ONE (1) DUAL
(2-WIRE) 30 AMP
POWER FILTER

ONE (1) 10/100/1000
ETHERNET FILTER

12
2

11
2

30
AMP

ISOMETRIC VIEW

FS-5110 ANGLE FOR
SEISMIC BRACING
WITH 1/8" MASONITE
FOR ISOLATION

8
2

INSIDE ELEVATION "C"

VINLY FLOOR TILES
TO BE INSTALLED ON
R.F. FLOOR IN BETWEEN
FLAT CHANNELS

1'-0"

1'
-6

"
1'

-8
"

6" 1'-0"

6"
1'

-8
"

2'-0 1/2" 1'-0"

6"

4"

2'
-0

"±

12"±

1'-8"±
RCM-254LT

 LOW
THRESHOLD

3
2

2
2

3'
-1

 3
/8

"

6"
1'

-8
"

6"1'-0"

6"
1'

-8
"

6"

6'
-5

 7
/8

"  
R

C
M

-2
54

LT
 C

le
ar

 O
pe

ni
ng

6" 1'-0"

3'
-0

"
1'

-0
"

9"
±

Leslie W. 8-9-21
REVISED:

HEAT TREAT         -
WEIGHT             -

UNIVERSAL
SHIELDING CORP.

-
-

- D-
SIZE

-

S
U

C

DRAWING NUMBER

B
ISSUE

R.F. SHIELDED ENCLOSURE
TITLE:

SCALE:
CHECKED:
APPROVED:

DATE:
DATE:

DRAWN: Leslie W.

USC-21729N

USC-26

1/2"=1'-0"

Bob Chandra
537 Moultrie Street

San Francisco, CA 94110

DATE:  7-14-21

ACCESSORIES:
A. POLYVINYL AND MASONITE UNDERLAYMENT

B. ONE (1) RF SHIELDED PERSONNEL DOOR WITH
CLEAR OPENING 2'-8" x 6'-5 7/8", TYPE RCM-254LT,
LOW THRESHOLD SILL, INSIDE DOOR WITH WHITE
PANEL

C. ONE (1) DUAL (2-WIRE) 30 AMPERE POWER FILTER

D. ONE (1) R.F. PENETRATION PANEL (12" x 12")

E. FOUR (4) R.F. AIR VENTS (12" x 20"),
1/8" CELL HONEYCOMB,
FLANGE AND DIELECTRIC COLLAR ON OUTSIDE

F. TWO (2) LITHONIA LBL4 LP840 SURFACE MOUNT
LED LIGHT FIXTURE

G. ONE (1) GIGAFOIL 10/100/1000 ETHERNET FILTER.
100DB PERFORMANCE 10KHZ TO 10GHZ+
FIBER OPTIC ISOLATION LINK (FOIL)
TECHNOLOGY

H. ONE (1) 3/8" BRASS GROUND STUD

I. VINYL FLOOR TILE INSTALLED BETWEEN FLOOR
FRAMING MEMBERS

J. SEISMIC BRACING AND ENGINEERING
CALCULATIONS

K. PROFESSIONAL ENGINEER STAMPED DRAWINGS

L. WHITE PANELS INSTALLED ON INSIDE.
(WALLS & CEILING)

SHEET 1 OF 2

- PRELIMINARY DRAWING

REVISIONS

7-14-21 -

A REVISED PER MARK UP DRAWING
(RELOCATED AIR VENT AND I/O PANEL) 7-21-21 -

B -

APPROVALDATEDESCRIPTIONSYM.

1. PARENT ROOM FLOOR MUST BE FLAT AND
LEVEL WITH IN 1/4" EVERY 10'-0"
(NON-ACCUMULATIVE)."NOT BY UNIVERSAL
SHIELDING CORP. "PARENT ROOM FLOOR,
WALLS AND CEILING MUST BE FREE OF ANY
OBSTRUCTIONS.

2. FINAL FABRICATION CANNOT BE COMPLETED
UNTIL DRAWING(S) IS/ARE APPROVED BY
CUSTOMER

3. ALL ELEVATIONS ARE SHOWN FROM INSIDE OF
RF. ENCLOSURE.

NOTES:

REVISED PER MARK UP DRAWING
(RELOCATED AIR VENTS) 8-9-21



 GROUND STUD5 9 INTERMEDIATE
JOINTS @ FLOOR

INTERMEDIATE
JOINTS @ WALLS10

SHEET 2 OF 2

CAUTION:
TO AVOID POSSIBLE ELECTRICAL SHOCK,
GROUND STUD MUST BE INSTALLED AND
GROUND WIRE MUST BE ATTACHED TO
GROUND BEFORE POWER IS APPLIED TO FILTER

BRASS THREADED ROD
WITH BRASS FLAT

WASHERS AND BRASS
HEX NUTS {3/8-16}

OUTSIDE
ENCLOSURE

INSIDE
ENCLOSURE

TO GROUND

RF PANEL

PAN POSI-DRIVE
SCREWS {1/4-20 x
5/8" LONG} 3" O.C.

℄ TO ℄ DIM ℄ TO ℄ DIM

7/8" PANEL SIZEPANEL SIZE

6 MIL POLYVINYL MOISTURE BARRIER

1/8" MASONITE 'HAT', 1/8" THK
GALV. STEEL

WELDNUT {1/4-20} 3" O.C.

FLAT HEAD POSI-DRIVE SCREWS
{1/4-20 X 1/2" LONG} 3" O.C.

'FLAT', 1/8" THK
GALV STEEL

2 1/8"

1/8" MASONITE ISOLATION LAYER

26 GA GALV STEEL
BONDED TO WOOD

CORE {TYP @
FLOOR, WALLS &
CEILING UNLESS

OTHERWISE NOTED}

SERRATION'S

SERRATION'S

METHODS OF ATTACHMENT

1/4" TYP

1"
 T

YP

SERRATION'S

WELDNUT
(3" O.C.)

TIE PLATE
FSA-610

7
3"

 T
YP

WELD STUD (TYPICAL ON
END OF EACH CHANNEL)

HEX NUT (10-24)

BRONZE WOOL

TIE PLATE

RFI/EMI POWER LINE FILTER

STANDARD WIRE POWER FILTERS11

N.P.S. CONTINUOUS
THREAD NIPPLE

NUT & WASHER
RF GASKET

NUT (BY OTHERS)

JUNCTION BOX
(BY OTHERS)

R.F. SHIELD WALL

ACCESS
COVER

COMBINATION KNOCKOUT
FOR 3/4" x 1" CONDUIT 3

PLACES TO END THIS

13/16"
TWO (2)

WIRES

INSERTION LOSS 100 DB. - 14 KHZ. TO 10 GHZ. PER MIL. STD. 220 A

USE QTY PART NO.AMPS VOLTS HZ. A B C D
30 250 0 - 60 20" 7" 4" 12"USC - 50 - 2 x 302-

CAUTION:
TO AVOID
POSSIBLE
ELECTRICAL
SHOCK,
GROUND S
TUD MUST
BE INSTALLED
AND GROUND
WIRE MUST
BE ATTACHED
TO GROUND
BEFORE
POWER IS
APPLIED
TO FILTER

*NOTE:
DO NOT REMOVE
NUT & WASHER
FASTENED TO
SHIELD WHEN
INSTALLING
JUNCTION BOX

50 250 0 - 60 26" 8 1/4" 4 1/4" 12"USC - 50 - 2 x 50--
60 250 0 - 60 20" 12"USC - 50 - 2 x 60-- 8 1/4" 4 1/4"

C

A

2"D B

5 250 0 - 60 6 3/4" 3 1/2" 2 1/2" 12"USC - 50 - 2 x 5--

R.F. PENETRATION PANEL13

1/8" 1'-0" [12"] CLEAR OPENING

1'-3" [15"] BRASS EXTRUSION FRAME AND PLATE

13/16"

R.F. SHIELD

11 GA.
GALV.
STEEL
PLATE

BRASS
EXTRUSION

FRAME

IN
SI

D
E

EN
C

LO
SU

R
E

#8 SHEET
METAL

SCREW
(TOP AND
BOTTOM)

1/4" - 20
HEX HEAD

SCREWS
ON 3"

CENTERS

1 1/2"

#7 HOLE (ONLY ON
BRASS EXTRUSION
FRAME TOP AND
BOTTOM)

1 1/2"

1'
-0

" [
12

"] 
C

LE
AR

 O
PE

N
IN

G
1'

-3
" [

15
"] 

BR
AS

S 
EX

TR
U

SI
O

N
 F

R
AM

E 
AN

D
 P

LA
TE

1 
1/

2"
1 

1/
2"

WAVEGUIDE
AIRVENT 1400F

POSI-DRIVE SCREWS
1/4"-20 ON 3" CENTERS

14

ATTENUDUCT
CORE

CLEAR OPENING

INSIDE RF
ENCLOSURE

16 GA. {.059}
COLLAR FOR
CONNECTION
OF DUCT{IF

DESIRED}

HAT & FLAT
FRAME

RF PANEL

OUTSIDE RF
ENCLOSURE

13/16"1 1/8"

1 1/8"

NOTE: MAXIMUM HEAD LOSS OF 0.05
INCHES OF WATER AT 1200 FEET
PER. MINUTE AIR VELOCITY.
MATERIAL: CONTINUOUSLY BRAZED
RECTANGULAR CELLS .006 THK
STEEL. 3/16" SQ. NOMINAL 1' DEEP.
FINISH:
HOT
TIN DIP
OR
GALV.

1"

*SEE PLAN FOR
 SIZE & LOCATION*

C
LE

AR
 O

PE
N

IN
G

CANVAS
COLLAR

{B/O}

EX
IS

TI
N

G
 D

U
C

T

N
EW

 D
U

C
T

RF GASKET

12

RJ45 CONNECTOR

GASKET

WIRE

3" 3"

1 1/4" WAVEGUIDE

LOCKNUT

2 1/2"

51 2"

3"

STANDARD
ETHERNET

FILTER

FOIL-10/1000
ASSEMBLED IN MEXICO

FRONT VIEW BACK VIEWSIDE VIEW

BOTTOM VIEW

Giga FOILTM ETHERNET
FILTER

P/N: GIGAFOILv3
Fiber Optic Isolation Link (FOIL) Technology

PATENT PENDING
Performance:
           100dB  10kHz To 10 GHz
Protocol:
           Autosensing 10/100/1000Base-T
Power:
           +5V / 2A max; center positive
Environment:
           0 TO 60°C
           10 TO 90% Humidity (non-condensing)

ADAPTER

CONNECTION

RJ45 CONNECTOR

5VAC2

USC-ENET-10/100

HZ.VOLTSAMPS

PART NO.:

0 - 602

QTYUSE
INSERTION LOSS 100 DB. - 14 KHZ. TO 10 GHZ. PER MIL. STD. 220 A

RFI/EMI POWER LINE FILTER

ETHERNET

 TYP. FREE-
STANDING

ASSEMBLIES
15

R.F. WALL PANEL

"M" CHANNEL

"U" CHANNEL

R.F. CEILING PANEL

STANDARD ROOM SECTION

FI
N

IS
H

 F
LO

O
R

 T
O

 C
EI

LI
N

G
 H

EI
G

H
T

1 
1/

16
"

1 8"
13 16

"

O
VE

R
AL

L 
EN

C
LO

SU
R

E 
H

EI
G

H
T

M
O

D
U

LA
R

 P
AN

EL
 H

EI
G

H
T

1
5 16

"

1 
3/

16
"

1
5 16

"

4

NOTE:
 WELDNUTS USED ARE OF A
 BLIND HOLE CONFIGURATION.
 NO SCREW FASTENERS
 PENETRATE OUTER FRAMING
 MEMBERS

"M" CHANNEL

"U" CHANNEL

R.F. FLOOR PANEL

1/8" MASONITE ISOLATION LAYER

6 MIL POLYVINYL MOISTURE BARRIER

1/4-20 WELD NUT
W/ 1/4-20X5/8 LG.

PAN HD. POSI-DRIVE
SCREW 3" O.D.

PARENT ROOM FLOOR

1 8"

1 8"

13 16
"

1 8"

1 8"

OUTSIDE
ENCLOSURE

1" TYP

3" TYP

6

WELDNUT

EXTERNAL "M" CORNER
15 5/16" OVERALL LENGTH

EXTERNAL 'M' &
INTERNAL 'U' CORNERS

WELD STUD
(3 REQD)
OHIO 10-24

3 'M' CHANNELS
MITERED &

CONT. WELDED

2"

11/32" DIA HOLE
TYP INTERNAL
"U" CORNER

3 'U' CHANNELS
CORNER SPILTED

REVISED:

HEAT TREAT         -
WEIGHT             -

UNIVERSAL
SHIELDING CORP.

-
-

- D-
SIZE

-

S
U

C

DRAWING NUMBER ISSUE

R.F. SHIELDED ENCLOSURE
TITLE:

SCALE:
CHECKED:
APPROVED:

DATE:
DATE:

DRAWN: Leslie W.

USC-21729N

USC-26

NTS

Bob Chandra
537 Moultrie Street

San Francisco, CA 94110

DATE:  7-14-21

FLOOR TILE

RCM DOOR TYPE 254
RHO (LATCH OUTSIDE)1

1. DOOR SWING AS REQUIRED.

2. DOOR EXTRUSION IS FACTORY
MITERED, WELDED AND SOLDERED

CONTINOUSLY INSIDE AND OUTSIDE.

3. RCM TYPE 254 DOOR IS TO BE PROVIDED
WITH A MULTIPLE POINT LATCHING

MECHANISM CONTACT WITH STRIKE SHALL
BE BY CAM FOLLOWER ROLLER BEARING.

NOTE:

STEEL SKIN

THREE POINT
LATCHING
MECHANISM

DOOR HANDLE

2'-8" [32"] CLEAR OPENING

3'-9 3/8" [45 3/8"] DOOR FRAME WIDTH

6 11/16" FRAME6 11/16" FRAME

OUTSIDE
ENCLOSURE

INSIDE
ENCLOSURE

BRONZE MALE
AND FEMALE
EXTRUSIONS

DOOR HINGE
LOCATED AT
THREE POINTS
(NOTE: 1)

DOOR HANDLE

DOOR UNIT CONSISTS
OF GALVANIZED STEEL
OVER SOLID WOOD
CORE (TYP. BOTH
SIDES)

KEEPERS AT
THREE POINTS

DOOR
SUPPORT

FOUR (4) ROWS
OF BERYLLIUM
COPPER. CONTACT
STRIP RETAINED
BY EXTRUSION
CONFIGURATION.

DOOR SILL DETAIL FOR
RCM-254 (OUTER SWING)2

INSIDE
ENCLOSURE

1 1/4" WOOD CORE
WITH 20 GA.
GALVANIZED

STEEL (LAMINATED
BOTH SIDES)

BRONZE MALE
AND FEMALE
EXTRUSIONS

RF FLOOR PANEL

6 MIL POLYVINYL

1 
9/

16
"

SI
LL

1 
11

/1
6"

6'
-5

 7
/8

" C
LE

AR
 O

PE
N

IN
G

OUTSIDE
ENCLOSURE

RCM-254 LOW
THRESHOLD

SILL AND FRAME

1/8" MASONITE

5/
8"

13
/1

6"

3

6'
-5

 7
/8

" [
77

 7
/8

"]
C

LR
. O

PE
N

IN
G

3 
1/

8"
 F

R
AM

E

M CHANNEL

INSIDE
ENCLOSURE

OUTSIDE
ENCLOSURE

1 1/4" WOOD CORE
WITH 20GA. GALV.

STEEL (LAMINATED
BOTH SIDES)

BRONZE MALE
AND FEMALE
EXTRUSIONS

RF FINGER
STOCK

R.F. PANEL

DOOR
FRAME

DOOR HEADER SECTION
 RCM-254 (OUTER SWING)

SEISMIC BRACING8

"M" CHANNEL
"U" CHANNEL

R.F. WALL
PANEL1/8" MASONITE

BETWEEN SHIELD AND
SEISMIC BRACING FOR

NOT GROUNDING

FS-5110 ANGLE
FOR SEISMIC

BRACING

HILTI (KWIK BOLTS)
KB-TZ 3/8" x 3 3/4"

EXP. ANCHOR

1/8" MASONITE

Leslie W. 8-9-21 B


	Sheets and Views
	21729 Bob Chandra Rev B-SHEET 1
	21729 Bob Chandra Rev B-SHEET 2


